GRADE 11 ESSENTIAL
UNIT G - TRIGONOMETRY
PRACTICE QUESTIONS
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You may use your course Reference Notes and a calculator. Tre '_G-(b oS should L;e

Show work for best marks
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Round lengths to two decimal places and angles to one decimal place. L” Io~ ces
Diagrams are not necessarily drawn to scale, use the dimensions given! P

1. Find side c:

2. Find side b.
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d. the measure of angle B (mAB)
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4, Find side a: COSINE LAW
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Not Cosine; so Sine Law
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5.  Findsidec:
6.  What angle has a cosine of 0.691? cOos (X) =0. éq |
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measures of angle C, side b, and angle B. @ SLV\ CC Sch LAS 'CC—.BO?’SL
7 Q) <B- /80—(45+30 ) 0¥, 66

25 35
: Q) Sirelew? m‘c stﬁ °
VA b c - =48k a
OB Copine (o.w
b;' - -I—c '9‘5\ (e CC)SB

SIRTGEN A




3
W
8.  Find the value of side x. ?bﬂ“*‘)o""‘s (s msLes't
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10. Kyle is flying a kite. The string is 50 metres long. The string makes an angle of 60° with
the flat ground. What is the vertical height, h, of the kite above ground?
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11. Find the value of side b. .
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12.  Find the value of angle 6. S Lhﬂ /Gb\)
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BONUS QUESTION (for 2 extra marks if needed)

Solve the following equation for the unknown ‘x’:
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13. Find the measure gf length x 0
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14. Find the measure of angle 6
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